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1. A substance has electrons which are free to drift freely from atom to aton. Such a
substance 15 1ikely to be:

a. copper. b 3 vacuun. c. air. d. glass.
2. Which of the following is meant by the abbreviation ENF?
a. electrical mains frequency b. electric neasuring force
€ electro nagnetic force 4. electro motive force
3. The best conductor 1isted below is:
a. copper. b carbon, <. glass. d. a vacuum.
4. An important use of insulators in electranics fs:
a. electrodes in radio valves. b. electrolytes in lead-acid cells.
<! dielectric naterial in capacitors. d. wire leads on transistors.

5. An electrical component marked as "6.8 kilohms" would be a:
a. capacitor, b. transistor. c. dry cell. d. resistor.

The opposition to electron flow in a circuit would be called:
a. current. b. voltage. c. resistance. d. power.
7. Betien two pofnts in 2 circuit the potential difference would be measured T
a. anperes. b. volts. c. oms. d. coulombs.

8. Which of the following instrunents is used for measuring electrical current flow?
a. wattneter b. voltneter c. ameter d. faradneter
9. The substance listed which will nost readily allow an electric current to flow is
called: B
a. an insulator. b. a conductor. c. a resistor. d. a dielectric.

10. The ohm is the unit of:
a. supply voltage. b, electrical pressure,
< current flow. d. electrical resistance.

1. Winich of the following devices depends on electronagnetisn for its operation?
a. lead-acid cell b. solenofd relay
c. electrolytic capacitor d. fleld effect transistor

12. A Tength of metal is connected fn a circuit and is found to conduct electricity
very well. It would be best described as having a:
a. high resistance. b. low resistance.  c. high wattage.  d. low wattage.

13. The plastic coating formed around wires is used as:
2. an insulator. b. a conductor. c. an inductor. d. a magnet.

14, The most conmon material used as a resistor is:
a. Tead. b. gold. c. mica, d. carbon.

15. The unit of current flow is the:

a. volt. b. oh, d. farad.
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a. magnetic field, b. an electric field.

c. an electronic field. d. a gravitational field.
17. A kilohm refers to:

a. 10 ohms. b. 0.1 ohms. c. 0.001 ohms. d. 1000 ohms.
18. 6.6 kilovolts s equal to:

a. 66 volts. b. 660 volts. c. 6 600 volts. d. 66 000 volts.
19. A current of one quarter of an ampere may be written as:

a. 250 microanperes. b. 0.5 amperes.

€. 0.25 mill{amperes. d. 250 mill{anperes.

20. How many mi11ivolts are equivalent to two volts?
a. 0.002 b. 2 000 c. 0.000 002 d. 2 000 000

21. This circuit synbol represents:
2. a capacitor.
AN~ b a resistor.
c. an inductor.
d. an serfal.

22. In the resistor colour code the third colour band indicates:

a. tolerance range. b. power value

c. the multiplier. d. resistor material.
23. In the resistor colour code the colour yellow refers to the numbe

a 2. b. 3. c. 4. d. 5.
24. A resistor is marked with the colours red-violet-yeTlow. This resistor has a value

in ohms of:

a. 27, b. 270 k. 2k d. 27 m
25. A device which is magnetic only when the current is flowing is called:

a. a magnetic field. b. an electronagnet.

c. a bar magnet. d. a pernanent magnet.
Electricity and electric currents
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1. This synbol represents

R

2. A cell that
is known as

a. primary cell.
c. yagi cell.

3. Which of the following is a source of EMF?

a. lead acid battery
c. germaniun diode

a. cell.
b, resistor.
c. transistor,
d. cofl.

n be repeatedly recharged by supplying ft with electrical energy

b. secondary cell.
d. low Teakage ceil.

b. carbon resistor
d. P channel FET

4. An important difference between a normal torch cell and a lead acid car battery is

that only the Tead acid battery:

a. has two terminals.
c. can be repeatedly recharged.

b. contains an electrolyte.
d. can be effectively discharged.

5. When an electric cell is connected to an electric circuit!
a. electrons flow from the positive electrode into the circuit.

b. electrons flow from the negative electrode into the
ve electrode into the circuit.

c. atons flow fron the posi

uit

d. atons flow from the negative electrode into the circuit.

6. A1l Leclanche cells have a nominal voltage of 1 volts.

of this type, a large cell would have:
. different cheicals inside the case.

b. a Tonger Tife supplying the same current.

c. the ability to be recharged.
d. a greater open circuit voltage.

7. M dry cell has an open Circuit voltage of 1.5 volts.
of current the voltage may drop to 1.2 volts.

a. internal resistance.
c. electrolyte leaking.

8. This is a circuit synbol for:

—l—=

9. The basic torchi cell has an EMF of 1.5 volts.

be a battery formed from these cells?
a.1volt battery.  b. 2 volt battery.

Compared with a snall cell

When supplying a great deal
Thisis due to the cell's:

b. self capacitance.
d. SWR effect.

a. a battery.
b. an inductor.
resistor.
cell.

Wnich of the following is Tikely to

c. 3volt battery.  d. 4 volt battery.

10. What is the smallest nunber of 1 volt cells you need to produce a 9 volt battery?

a3 b. 6

9 d. 12

11. To make a long lasting Iis volt battery from three lis volt cells, the cells should

be connected in:

a. series resonant. b. series.

c. parallel resonant. d. parallel.

12. Six dry cells are connected to provide a battery for a 9 volt transistor radio. The

cells are connected in:
a. parallel resonant. b. parallel.

13. The diagran shows a battery formed fron:

L L=

J N

c. series resonant. d. series.

1 cell.
2 cells.
4 cells.
8 cells.
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A lead-acid battery should have its top casing and terminals kept clean to prevent:

a. excess battery voltage developing.
b. corrosion of terminals and leads.
c. overcharging occurring.

d. excessive capacitance effects.

A battery is mde of six lead-acid cells in parallel. It will have an effective
voltage of:

a. 2 volts. b. 6 volts. 9 volts. . 12 volts.
The nominal output voltage of a single lead-acid cell is:

2. 1.2 volts b. 1.5 volts. <. 2.0 volts 4. 6.0 volts.
A battery s made of six lead-acid cells in series. It will have an effective voltage
of:

a. 2 volts. b. 6 volts €. 9 volts d. 12 volts.
No flames should be brought near a lead-acid cell being charged because of the:
a. corrosive sulphuric acid. b. high charging currents.

c. hydrogen gas produced. d. inflammable plastic case,

The state of charge of a storage cell can be conveniently found by examining the:
a. actd content of electrolyte, b. Tead content of the electrode.

<. corrosion on the terminals, d. Teakage current of the cell,

A Tead-acid battery will begin to charge when the:

a. terminal voltage of charger exceeds battery voltage.
b. termina] voltage of battery exceeds charging voltage.
c. internal resistance of the battery s high
d. internal resistance of the battery is low:

acid cells should fnvolve:

Regular maintenance of lea

adding lead to electrolyte b. conpletely discharging each cell.
c. depolarising the cells. d. maintaining electrolyte levels,
To 14mit the current drawn when charging a lead-acid cell you would:

a. connect a resistor in serfes. b. connect a resistor in parallel.
c. comnect a capacitor in series. d. connect a capacitor in parallel

The liquid from lead-acid cells should not be allowed to come in contact with
clothing or sensitive skin because this 1iquid is:

a. expensive to replace. b. charged with electricity,

c. highly inflamable. d. corrosive and poisonous.

The voltage of a new Leclanche type torch cell i
2. 0.5 volts, b. 1.2 volts. . 1.5 volts, d. 2.0 volts.

A Nicad cell is really a shortened name for the:

a. nichrone cell b. Leclanche cell,  c. lead-acid cell.  d. nickel-cadniun cell
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Sealed Nicad cells should not be charged at high current rates because they:

a. might explode due to sudden gas pressure.
b may reverse polarity because of high current
c convert their electrolyte to water.

. may convert to a Leclanche cell.

A Nicad cell has a typical no Toad output voltage of:

s Lvalt, b. 1.2 volts, e L5 volts, 4.2 vorts,
The voltage across a resistor carrying current fs:
a1+R boI-R, c IXR, 4k

A current of 2 anperes flows through a resistance of 16 chns. The applied voltage is:
a. 8 volts, b. 14 voits. €. 18 volts, 4. 32 volts.

What voltage causes a current of 5 ampere to flow in a resistance of 50 ohms?
. 20 volts, b. 45 volts c. 55 volts. d. 250 volts,

What voltage would be needed to supply a current of 200 mA to operate an electric
Tamp which has a resistance of 25 ohms?
@ 5 voits, b. 8 volts, c. 175 volts. 4. 225 volts

An EWF of 6 volts causes a current of 0.5 ampere to flow through a resistance. To
change the current to 0.25 ampere the voltage mist:

2. increase to 12 volts. b. drop to 3 volts.
<. notchange. d. drop to zero.

The current flowing through a resistor is:

a EXR [ c E+R 4 E-R.

When an 8 ohm resistor is connected to a 12 volt supply the current flow in
amperes is:

12

8
a. b, T2 c. 12 -8, d.12+8.

A circuft has a total resistance of 100 ohms. When a voltage of 50 volts is applied
to the circuit the current which will flow will be:

2. 50 nh. b. 500 mh. c. 2 anperes. d. 20 anperes.
Wnich of the following resistors has the greatest opposition to current flow?
2. 230 ohm b. 1.2 kilohn €. 1600 ohm 4. 0.5 megotm
The resistance of a circuit can be found by:

B4l boE-I

£ EXL
A resistor in a circuit has a voltage across its ends of 10 volts. While carrying
2 current of 1 mA the resistance must b

a. 10 ohms. b. 100 ohms. . 1 kilohm. d. 10 kilohn.
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A torch bulb is connectedeto a 3 volt battery. 1If 300 mA flows the resistance of
the bulb is:

a. 10 ohas. b. 9 ohms. . 6 volts. d. 3 volts.

An EMF of 12 volts causes a current of 0.5 ampere to flow through a resistor. The
value of its resistance is:

a. 6 ohms, b, 12,5 ohms, c. 17 ohms. d. 24 ohms,

This circuit would be best described as a:

5. paraitel circuit.
AN eresparaliel ciruit.
3 series resonant circuit.
Mhich of the following formulae would be correct for finding the total series resistance
0 Ry = R xRy x Ry bRy R+ Ry 4 Ry
Gyt R o Ryt Ry 4Ry Ry X By x Ry

3 3

The diagran shows three Tight bulbs in a circuit. The bulbs are wired in:

a. series.

bl parallel.

c. series-parallel.
d. shunt form.

A pair of stereo headphones has separately connected earpieces each of 8 ohms. When
connected in series they should present a load of:

a. 2 ohms. b. 4 ohms. “c. 8 oms. d. 16 ohms.

When resistors are arranged in series it is true to say that their total resistance
iss

a. less than the resistance of any one resistor.
b. greater than the resistance of any one resistor.
c. equal to the highest resistance present.
d. equal to the lowest resistance present.

What is the combined resistance of five 10 ohn resistors in series?
a. 1om b. 5 ohms €. 10 ohms d. 50 ohms

If the resistors 10, 270, 3 900, and 100 ohms are connected in series the total
resistance would be: .

a. 9 ohms. b. 3 900 ohms.. <. 4 280 ohms. d. 10 ohms.
Which series conbination of resistors would most nearly replace a single 120 ohm
resistor?

a. five 33 ohm b. six 22 on c. two 68 ohm d. five 100 ohn
If two resistors of 0.22 Megohm and 330 kilohn are arranged in series the total
resistance is:

a. 55 000 ohms. b. 550 Megohms .
c. 55 000 kilohms. d. 550 kilohms.
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This circuit shows three resistors arranged i

series.
parallel.
series-parallel.
potential divider.

If ten resistors all "R" ohns were wired in parallel then the total resistance
would be:

N b0en o B B

What is the total resistance of four 68 ohm resistors wired in parallel?
a. 12 ohns b. 17 ohms c. 34 ohms d. 272 oms

The resistors 68 ohn, 47 kilohns, 560 ohns and 10 ohms are connected in parallel.
The total resistance is:

a. less than 10 ohms. b. between 68 and 560 ohns.

c. between 560 ohns and 47 kilohms. d. greater than 47 kilohns.

Which of the following resistor combinations would most nearly replace a single
150 ohm resistor?

a. four 47 ohm resistors in parallel b. five 33 ohm resistors in parallel
2 four 47 ohm resistors in series d. five 33 ohm resistors in series

To 120 ohm resistors are arranged in parallel to replace a faulty resistor. The
faulty resistor originally had a value of:

a. 15 ohms. b. 30 ohms. c. 60 oms. d. 120 ohms.

Two resistors are in parallel. If resistor A carries twice the current that resistor
B does then it means that:

a. A has half the resistance of B.

b. B has half the resistance of A.

c. the voltage across A is twice that across B.

d. the voltage across B is twice that across A.

Given five 1 kilohm resistors the least resistance that can be made would be:

a. 50 ohms by arranging them in series.
b. 50 ofms by arranging them in parallel.
. 200 ohms by arranging them in series.

d. 200 ohms by arranging them in parallel.

Which of the following combinations of 28 ohm resistors would have a total resistance
of 42 ohns?

a. three resistors in series

b. three resistors in parallel

c. two resistors in parallel in series with another

d. two resistors in parallel in series with another two in parallel

Two 100 ohu resistors arranged in parallel are wired in series with a 10 ohm resistor.
The total resistance is:

a. 60 ohms. b. 180 ohms. . 190 ohns. d. 210 ohws,
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Four 15 kilohm resistors are wired as shown. The total resistance is:

a. 15 kilohns.
bl 30 kilohns.
c. 20 kilohns.
d. 60 kilohns.

A5 otm and a 10 ohn resistor are wired in series and connected to a 30 volt power
supply. The current flow from the power supply is:

a. 0.5 anpere. b. 1 ampere. c. 2 ampere. d. 15 anpere.
Three 12 ohm resistors are wired in parallel and connected to an 8 volt supply. The
total current flowing fron the 8 volt supply is:

a. 1 anpere. b. 2 ampere. c. 3 ampere. d. 4.5 anpere.

Two 33 ohm vesistors are connected in series with a power supply. If the current
Flow 15 100 nA then the voltage across one resistor i
a. 66 volts. b. 33 volts. c. 3.3 volts. ¢ 1volt.

Three resistors of 3.3, 4.7 and 10 ohms are connected in series across a 36 volt
battery. The current flowing through the 10 ohm resistor is

a. 0.5 anpere. b. 1.0 anpere. c. 2.0 ampere. d. 3.6 anpere.

One way of operating a 3 volt bulb from a 9 volt supply would be to:

a. operate it in series with the supply.  b. operate it in parallel with the supply.
c. operate it in series with a resistor.  d. operate it in parallel with a resistor.
How many identical lamps each rated at 250 mA could be operated full current from

a 54 supply?

a. 50 lamps b. 30 Tanps c. 20 Tamps d. 5 lamps

A set of three resistors each of 33 ohms wired in parallel is connected to a power
supply. If each resistor is carrying 1 anpere the voltage of the power source is:

a. 99 volts. b. 33 volts. c. 11 volts. 4. 1volt,

If two resistors of 180 and 820 ohms are connected in series across a 15 volt OC
supply the current flow in the circuit is:

a. 15 millianperes. b. 30 millianperes. c. 15 amperes. d. 30 amperes.

The resistor has a resistance of 66 ohms while the resistance between J & K is 22 ohms
The_voltage between J & K would be:

. 450 volts.
150 volts.
100 volts.

150 volts © 50 volts.

K

If six identical bulbs each rated at 2 volts were connected in series the supply
Voltage needed to cause the bulbs to 1ight normally would be:

a3V, bo12 V. c. 6. a2V,
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operate from a 240 volt power supply?
a. 12 x 200 b. 240 + 12 c. 240 - 12 d. 240 + 12
72. Often in the srall decorative lights used on Xnas trees, if one bulb is removed the
rest will fail to light. This would indicate that:
a. removing one bulb causes the others to blow.
b. only that bulb was satisfactory.
c. the bulbs are arranged in paraliel.
d. the bulbs are arranged in series.

73. Three 10 000 ohn resistors are connected in series across a 90 volt OC power supply.
The voltage drop across one of the resistors is:

2. 30 volts. b. 60 volts. €. 90 volts. 4. 15.8 volts.
74. The current in this circuit will be the same at:
a. Aand B
b. B and C
— VW VWNV—  caBanc
o] d. A, B, Cand D

75. Two resistors of the same value, are arranged in a series circuit with a battery. It
i true to say that:

Voltage across Current in
each resistor each resistor

a sane sane

b. sane . different

c different : sane

d. different different

76. A 100 ohm resistor is connected across the terminals of a 3 volt battery. To double
the current flowing in the circuit it is necessary to add

a. 100 ohm resistor in series.
bl 50 ohm resistor in series.

c. 100 ohm resistor in parallel.
d. 50 ohm resistor in parallel.

77. Power is expressed in:

a. ohms. b, watts. anperes. 4. volts.

78. Wnich of the following two quantities should be multiplied together to find power:

a. resistance and capacitance. b. voltage and current.

c. voltage and inductance. c. inductance and capacitance.
79. Which two electrical units nultiply together to give the unit "watts'?

a. volts and amperes. b. volts and farads

c. farads and henrys. d. anperes and henrys.

80. A resistor is rated at 2 watts. This means the resistor:

a. needs 2 watts to operate correctly. b. can safely dissipate 2 watts of power.
. will Tinit the power to 2 watts. d. has a resistance of 2 watts.
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A resistor in a circuit becones very hot and starts to burn. This is because the
resistor is dissipating too mich

a. current. b. voltage.

resistance. d. electrical power.

High power resistors are usually large with heavy leads. The size aids the operation
of the resistor by:

a. allowing higher voltage to be handled.

b making 1t shock proof.

c. increasing the effective resistance of the resistor.

d. allowing heat to dissipate more readily.

The resistor that would dissipate most heat would be marked:
a. 20 watts. b. 0.5 watts. c. 2 ohms. d. 10 ohms.

In this circuit most electrical energy would be converted to heat and light energy in:

connecting wires.
© electric cel
electrical switch.
© Tight bulb.

e

A 12 volt Tight bulb is rated at a power of 30 watts. The current drawn would be:

o %0 ameres. b Bamerss. 3 emeres. o famperes

The mininum power rating of a resistor passing 10 mA at 10 volts PD would need to be:
a. 0.01 watt. b. 0.1 watt. o 1watt. d. 10 watt.

If two resistors each of 10 ohms are connected in series with a battery of 10 volts
then the power consumption would be:

a. 5 watts. b. 10 vatts. c. 20 watts. 4. 100 watts.

. Each of 9 resistors in a circuit is dissipating 4 watts. If the circuit operates

from a 12 volt supply the total current flowing in the circuit is:

a. 48 amperes. b. 36 anperes. c. 9 amperes. d. 3 amperes.
A power supply of 25 volts DC is supplying five 10 ohms resistors in serfes. The
power rating of each resistor needs to be at least:

a. 1watt. b. 2 atts. €. 3 vatts. d. 4 watts.
Three 18 ohm resistors are connected in parallel across a 12 volt DC supply. The
total power dissipation of the resistors is:

a. 3 watts. b. 18 vatts. c. 24 vatts. d. 36 watts.
One advantage in replacing a 50 ofn resistor with a parallel combination of two
sinilarly sized 100 ohm resistors is that the parallel combination will have:

a. greater resistance and similar power rating.
b. Tesser resistance and similar power rating

C. the same resistance but greater power rating.
d. the same resistance but lesser power rating.
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resistor will dissipate the most power?

2. 2 volts and 40 mA b. 1 volt and 1 anpere
c. 250 mA and 250 m¥ d. 500 mA and 3 volts

93. A resistor of 10 kilohms has a current of 20 mA flowing through it. The power
dissipated in the resistor is:
a. 2 watts. b. 4 vatts. c. 20 watts. d. 40 vatts.

Direct current
1a  2-b  3a 4 5b  6b 72 8a 9 10-b
14 124 13- 14-b 152 16-c  17-d  18-c  19-a. 202
214 22-a 23-d  2-c  25d  26-a  27-b 28 29 30-d
312 32 33-b -2 B-b  36-d  Fc  38-d 392 40-d
41-a 42-b  43c  4-d  45-b  46-d  47-c  48b 49 50-b
514 52-b 532 54-d S6-c  S6-a 57-d  S8-c  59-a  60-c
6l-c  62-b 63-c 64-c 65-c 66-c 67-b 68-a 69-d 70-b
714 72-d 732 74-d  T5-a 76 77-b  78b  79-a . 80-b
8l-d  82-d 83-a 84-d 85-c 86-b 87-a 88-d 8%c 90
9l-c  92-d  93b
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1. The frequency of a current is 50 hertz. This means:
a. a potential difference of 50 volts exists.
b. the current flow is 50 anpere.
c. the power dissipated is 50 watts.
d. the current oscillates 50 times per second.

2. Current in an AC circuit goes through a complete cycle in 0.1 second. This means
the AC has a frequency of:
a. 1he. b. 10 Hz. c. 100 Hz. d. 1000 Hz.

3. Avsignal formed when a 4 kHz sine wave is mixed with signals of 8, 12 and 16 kiz is
called

a. pure sine wave. b. single harmonic wave.
c. frequency response curve. d. complex wave.

4. A signal is found to be made of a fundanental frequency of 2 itz and another signal
of 4 kiz. This 4 khz signal is referred to as:

a. a fundamental of the 2 kHz signal.

b. a harmonic of the 2 kiiz signal.

c. the DC component of the main signal.

d. a dielectric signal of the main signal.
A

a

c.

mixture of many different AC waveforms is terme

. a fundanental wave. b. a harmonic wave.
© a conplex wave. d. an induced wave.

6. The diagram shows a voltage trace on a cathode ray screen. It represents:
a. direct current.
b. alternating voitage.
c. output of dry cell.
w d. output of Tead acid cell.

7. The shape shown is often described as a:
a. RS vave.
nnn b, harmonic wave.
c. sine wave. .
d. coupling wave.

8. To generate an AC sine wave two basic components are needed. These are:

a. prinary cell and wire. b. wire coil and magnet.
c. magnet and primary cell. d. wire coil and a resistor.
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a. RS value. b. peak value. c. surge value. d. clipping value.

10. RS voltage refers to effective voltage. A correct formula about RS voltage is:

a. RS = 707 x peak. b. RS

707 x average.
c. RMS = 1.414 x peak. d. RS

1.414 x average.

11. An AC supply and DC supply are connected to identical bulbs and adjusted until each
bulb s equally bright. The OC supply is found to be 6 volts. Thus the AC supply
is 6 volts:

a. peak. b. RS, c. surge. d. peak to peak.
12. An equivalent of "one cycle per second” is one:
2. henry. b. volt. c. hertz. d. coulonb.
13. One megahertz is equal to:
a. 0.001 Hz. b. 100 khz. c. 1000 khz. d. 10 Hz.
14 A radio component would be identified as a capacitor if its value was measured in:
a. microvolts. b. millihenrys. c. megohms. d. picofarads.

15. A 0.01 yF capacitor is formed from two metal plates separated by air. The
capacitor could be changed to 0.02 F by:

a. bringing the metal plates closer together.
b. making the plates smaller in size.
c. charging the capacitor to a high voltage.
d. touching the two plates together.

16. The circuit shows: .
a. three capacitors in series.
® bl three capacitors in parallel.
c. three chokes in series.
“E I d. three chokes in parallel.
-

17. Which of the following is most Tikely to be a capacitor of 200 uF?

a. a plastic capacitor b. ceramic capacitor
c. silver mica capacitor d. electrolytic capacitor

18. The material which separates the plates of a capacitor is th
a. dielectric. b. nicad. c. resistor. d. Tanination.

19. Which of the following factors affects capacitance?

a. thickness of dielectric b. surrounding magnetic field

c. capacitor working voltage d. resistance between the plates
20. Compared to an RF by-pass capacitor an AF by-pass capacitor will have a:

2. larger capacitance. b. smaller capacitance.

c. Targer inductance. d. smaller inductance.
21. One thousand picofarads means the same as:

2. 0.1 microfarads. b. 0.01 microfarads.
c. 0.001 microfarads. d. 0.0001 microfarads.
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a. an aerial.
— b. a capacitor.
—N c. an inductor.
d. a diode.
23. Substances Tike iron or ferrite are used in inductors since they have high:
a. resistance. b. conductivity. c. permeability d. capacitance.
24. The inductance of a coil would be increased by:
a. inserting a ferrite rod. b. removing some turns.
c. inserting a brass core. d. winding on a thinner former.

25. Another name for an inductor is a:
a. carbon resistor. b. dielectric. c. choke. d. diode.
26. The unit to indicate the value of inductance in a radio component is called the:

a. ohn. b. farad. c. volt. d. henry.

27. A changing magnetic field around a wire coil will causs
« a. A.F. by-passing. b. R.F. by-passing. c. an induced emf.  d. an induced capacitance.

28. In some components a changing current causes a changing magnetic field which
opposes this change in current. These components would be called:

a. resistors. b. capacitors. c.inductors. d. transistors.

29. An inductance of 10 000 microhenries may be stated correctly as:

a. 10 henrys, b. 100 millinenrys . c. 10 millinenrys,  d. 1000 henrys.
30. A moving cofl meter can be easily protected fron mechanical danage while being transported
by:
a. shorting its terminals. b. Teaving its terminals open circuit.
c. applying a constant voltage. d. applying a constant current.

31. Four radio chokes each of 12 microhenry are wired in series. The total inductance
will be closest to:

a. 3 microhenry b. 4 microhenry c. 12 microhenry  d. 48 microhenry
32. The effective inductance of this combination is:

a. more than 100 1.

bl less than 2. uH.

p To0 10 c. betueen 2 and 10 y.
4. betueen 10 and 100 .

33. Two 12 millihenry chokes are wired in parallel. The effective inductance is:
a. 3 millihenry. b. 6 millihenry. c. 12 millihenry.  d. 24 millihenry.

34. To replace a faulty 10 millihenry choke you could use two:

a. 5 millihenry chokes in series. b. 5 millihenry chokes in parallel.
c. 10 millihenry chokes in series. d. 10 millihenry chokes in parallel.




[image: image15.png]35. Three inductances 1uH, 104 and 100K are wired in parallel. The effective
inductance of this combination is:

a. more than 100 LH. b. Tess than 1 yH.
c. between 1 and 10 L. d. between 10 and 100 1.

3. Three 15 picofarad capacitors are wired in parallel. The capacitance of the
conbination is:

a. 45 picofarad. b. 18 picofarad. c. 12 picofarad. d. 5 picofarad.

37. Three 15 microfarad capacitors are wired in series. The capacitance of the
conbination is:

a. 45 microfarad.  b. 18 microfarad.  c. 12 microfarad.  d. 5 microfarad.

38, Which serfes combinations of capacitors would best replace a faulty 10 microfarad
capacitor?
2. t0 10 microfarad capacitors b. ten 2 microfarad capacitors.
. two 20 microfarad capacitors d. twenty 2 microfarad capacitors.

39. A parallel conbination of 20, 15 and 10 uF capacitors will have a total capacitance of
a. less than 10 yF. b. between 10 and 15 F.
<. between 15 and 20 uF. d. greater than 20 uF.

40. Both capacitors and inductances can oppose AC. This opposition to AC is referred to a
a. resistance. b. resonance. . SR, d. reactance.

41. In general the reactance of capacitors increases as:

a. AC frequency increases. b. AC frequency decreases .
c. applied voltage increases. d. applied voltage decreases .

42. A capacitor acts as an open circuit to 10 Hz AC yet readily passes 10 Kiiz AC. This
indicates that the:

a. dielectric is breaking down. b. electrostatic shielding is changing.
c. copper losses are occurring. d. reactance depends on frequency.

43. An air spaced capacitor has a high reactance to an AC signal. This means that the:
a. capacitor will tend to pass the AC. b. capacitor will tend to block the AC.

c. air will becone conductive to the AC.  d. air will act as an insulator to the AC.

44. An audio frequency choke is different from a radio frequency choke in that the
audio frequency choke has:

a. few iron Taminations or cores. b. many iron laninations or cores.
c. a great thickness of dielectric. d. a thin layer of dielectric.

a. an inductance.  b. a capacitor. c. a resistor. d. a transistor.

45. A component which tends to pass Tow frequency AC better than higher frequency AC is:
46. In general the reactance of inductors increases withs \

a. decreasing AC frequency. b. increasing AC frequency. ‘
c. decreasing applied voltage. d. increasing applied voltage. ‘
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The effect shown in these circuits illustrates that the inductor has a high:
a. AC reactance, b. 0C reactance.
c. AC rectification. d. DC rectification.
A coiled length of wire may readily pass OC yet nay oppose AC. This is due to the
wire acting as
a. apacitor. b. inductor. c. resistor. d. transistor.
In inductances AC may be opposed by both resistance of winding wire and reactance due
to inductive effect. Tne term which includes resistance and reactance is:
a. resonance. b. capacitance. c. inductance. d. impedance.
A set of audio headphones is labelled “impedance 8 ohms". This inpedance is:
2. greater than the resistance. b. less than the reactance.
C. equal to the resistance. 4. equal to the reactance
This is the symol for:
a. a capacitor.
b. a microphone.
c. a loudspeaker.
4. an iron cored transformer.
Which of the following s a type of loss that usually occurs in power transformers?
a. resonance Toss  b. copper loss c. frequency loss  d. diode Toss
The fact that energy transfer from primary to secondary winding in 2 power transformer
is not perfect is indicated by:
a. large secondary currents. b. high prinary vol tages.
<. warm iron laninations. d. electrostatic shielding.
A transforner when used to power a transistor radio from the mains is being used to:
a. match inpedance. b. reduce the voltage.
c. produce less power. d. match reactances.
An electrostatic screen between windings on a transformer acts to:
a. increase magnetic coupling. b. increase capacitive couping.
c. decrease magnetic coup ing. d. decrease capacitive coupling.
In a circuit a transformer is shown comnecting an amplifier stage to a speaker. This
transformer 15 being used to match:
a. voltages. b. SHR. c. impedances. d. frequencies.
The core of 2 power transformer is usually laminated to:

a. reduce manufacturing cost. b. reduce transformer weight.
c. reduce heat in transforner. d. increase the turns ratio.




[image: image17.png]58. The insulated laminations in a transformer act to reduce currents in the:
a. primary winding. b. secondary winding.
c. iron transformer core. d. wiring around the transformer.

59. Power transformers operate by the principle of:
a. mutual inductance. b. magnetic attraction.
c. piezo electric effect. d. copper losses.

60. The primary winding of a 240 V mains operated transformer has 720 turns. The secondary
nunber of turns needed for a 20 volt output is:
a. 2. b. 60, c. 240 d. 720,

61. A transformer operates a 6.3 volt 2 anpere Tight bulb from its secondary winding. The
power consumed by the primary is approxinately:
a. 3watts. b. 6 watts. c. 8 watts. 4. 13 watts.

62. A transformer has a 240 volt primary that draws a current of 250 mA from the mains suppl
Assuming no Tosses, what current would be available from 2 12 volt secondary?

215 amperes b. 5 anperes c. 25 amperes d. 50 amperes

63. On a mains power transformer the primary winding has 250 turns and the secondary has 500
If the input voltage is 240 volts the 1ikely secondary voltage is:

a b. 120 <. 480 4. 500
64. A tuned circuit is forned fron two basic components. These are:

a. diodes and transistors. b. resistors and valves.

¢ directors and reflectors. d. inductors and capacitors.

65. The resonant frequency of this circuit depends on:

a. frequency of applied signal.
b. capacitor value only.
- . ¢l inductor value only.
d. capacitor and inductor value.
PO P

66. This is a:

b

67. This is a:

. series rectifier circuit.
. series resonant circuit.

parallel rectifier circuit.
 parallel resonant circuit.

serfes rectifier circuit.
series resonant circuit.

parallel rectifier circuit.
parallel resonant circuit.




[image: image18.png]68. When a parallel cofl-capacitor combination is supplied with AC of different frequencies
there will be one frequency where the impedance is highest. This is termed the:

. reactive frequency. b. impedance frequency.
© inductive frequency. d. resonant frequency.

69. In a parallel resonant circuit at resonance the circuit has a:

a. Tow inpedance. b. high impedance.

c. Tow mutual inductance. d. high mutual inductance.
70. In a serfes resonant circuit at resonance the circuit has a:

. low inpedance. b. high inpedance.

c. low mutual inductance. d. high mutual inductance.

71. A coil and air-spaced capacitor are arranged to form a resonant circuit. The resonant
frequency will remain the same if we:

a. wind more turns on the coil. b. increase the area of plates in capacitor.
c. replace the air with oil in the capacitor.d. add 2 resistor to the circuit

72. Resonant circuits are frequently used in receivers since they form a circuit which
changes impedance with changes in applied:

. current direction. b. voltage Tevel.
c._signal frequency. 4. standing wave ratio.
73. Piezo electric effects are used in:
a. magnetic earphones. b. crystal microphones.
c. series resistance circuits. d. parallel resistance circuits.
74. Piezo electricity is generated by:
a. touching crystals with nagnets. b, moving a magnet near a wire coil.
c. inserting metal rods into acid. 4. deforning certain crystals,
75. The operation of crystal microphones depends on the:
. mutual fnduction effect. b. plezo electric effect.
c. parallel resonance effect. 4. decibel effect.
76. The unit “decibel"*is used to indicat
a. certain radio vaves. b. single side band signal.
c. cathode ray wave forms. 4. mathesatical ratios.

77. The power output from a transmitter increases from 1 watt to 2 watt. This is a db
increase of :

2. 1db. b. 3db. c. 10 db. d. 30 db,
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